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KKK 1 Xã,3b� 4ABC ¥, AB 6= AC, K ´¥� AD�¥:, DE ⊥ AB u E, DF ⊥ AC

u F ,�� KE,KF ©O��� BC ��u:M,N , 4DEM,4DFN �	%©O� O1, O2.

y²: O1O2 ‖ BC.

KKK 2 � xi ∈ {0, 1}(i = 1, 2, · · · , n), e¼ê f = f(x1, x2, · · · , xn) ���� 0 ½ 1, K¡ f

´�� n �Ù�¼ê, ¿P

Dn(f) = {(x1, x2, · · · , xn)|f(x1, x2, · · · , xn) = 0}

(1) ¦ n �Ù�¼ê��ê;

(2) � g ´ n �Ù�¼ê, ÷v

g(x1, x2, · · · , xn) ≡ 1 + x1 + x1x2 + x1x2x3 + · · ·+ x1x2 · · ·xn (mod 2)

¦8Ü Dn(g) ����ê, ¿¦�����ê n, ¦�∑
(x1,x2,··· ,xn)∈Dn(g)

(x1 + x2 + · · ·+ xn) < 2017

KKK 3 � a1, a2, · · · , an+1 ��¢ê. y²:
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·
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(ai + ai+1)

KKK 4 éu?¿��ê n, P Dn � n ���ê�N, fi(n) �8Ü

Fi(n) = {a ∈ Dn|a ≡ i (mod 4)}

����ê,Ù¥ i = 0, 1, 2, 3. ¦�����êm,¦� f0(m)+f1(m)−f2(m)−f3(m) = 2017.


